Directions : In the following items, a pair of words
is provided. You are required to select the option that
most appropriately describes the meaning
grammatical parts of both the words and mark your

response on the Answer Sheet accordingly,

11. Lose and Loose

(a)

(b)

¢ (o)

(d)

12. Anyway and Any way

(a)

(b)

* (c)

(d)

ANFB-F-ENG

and the

Lose is a verb meaning to misplace and

loose is an adjective meaning slack or
movable,

Lose is an adjective meaning slack or

movable and loose is g verb meaning tqo
misplace,

Lose is an adjective meaning to misplace

and loose is a verh meaning slack or
movable

Lose is a verbh meaning slack or movable

and loose is an adjective meaning to
misplace.

Anyway is an adverb meaning any
manner or method. Any way is a phrase
meaning regardless.

Anyway is a phrase meaning any
manner or method. Any way is an adverbh
meaning regardless.

Anyway is an adverb meaning

regardless. Any way is a phrase meaning
any manner or method.

Anyway is a phrase meaning regardless,
Any way is an adverb meaning any
manner or method.

14,
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¢ (a)

(b)

(c)

(d)

13.  Allusion and Musion

. lied
g imp
Allugion 18 a noun that is 47

. o188 n.o
reference t, something. [llusion =~
that referg ¢4 a false idea.

‘ed
i W impli€
Musion i a noun that is

; ion |
reference to something. AllUS
noun that refers to a false idea

ijs &

an
to

rs
Allusion ig g verb that r‘?fe (Jlusion
implied reference to Somethﬂ.ldg;a

is a verb that refers to a false i

an
g to
Musion is an adverb that .refe;H g
implied reference to somethmge;l "
is an adjective that refers to a ft

Appraise and Apprise

(a)

(b)

(c)

e (d)

Appraise is a verb meaning to inform

about something. Apprise is a verb
meaning to examine and form an opinion
about something.

Appraise is a verh meaning to examine
and form an opinjon about something,

Apprise is a verh meaning to inform
about something,

Appraise is a noup heaning to inform

about something, Apprise i8 a noun
meaning to €Xamine ang g, ini

_ T an g
about Something, =

Appraise g an  adyey,
examine apq fi

Ineanmg to
0 el
something, A _I'm.au Opinigp abo
ethlﬂg. pprme.m_av ut
inform'aboutsom

R %



0 SO
" YOU ARE TOLD 1O D o8
e e b SV CLUL O s
. _‘\." T?‘IIS T"’S es
DO Nor oPEN e e ————

3
= Y 5 AT .ENG
I'.B.C.: ANFB-F

| 0?2}83 TEST BOOKLET

A2

o=t ENGLISH

- ' Marks : 100

T‘i od. Two Hours

i S NATION, YOU SHOULD CHggliTT:EHAMéP
THE BR 2 MISSING PAGES ,
HOMEN O R TORN OR
THE COMME UNPRINTED O
15 IMMEDIATELY AFTER ES NOT HAVE ANY o
BOOKL
ety BOOII%IE;PD&CED BY A COMPLETI_E "IT.?ST ncode and fill in the Roll Number and Test
#1C. IF S0, GET it is the candidate’s responsibility to e
2.  Please note that it i

i i at the appropriate
fully and without any omission or discrepancy
i C or D carefully
Booklet Series A, B,

i the Answer Sheet liable for
Sheet. Any omission/discrepancy will render
i Answer .
places in the OMR
rejection.

3. You have to enter your Roll I.*Iumber on F(llle L i {,8 |
Test Booklet in the Box provided alongside. ,

DO NOT write anything else on the Test Booklet, :
4. This Test Booklet contains 120 items (questions), Each item

comprises four responseg (answers). You
will select the response which you want to mark on the Ang

wer Sheet. In cage you fee] that there ig
re than one correct response mark the responge which you consider the best, Ip any case, chooge
mo )
ONLY ONE response for each item

5. You have to mark aJ] your responses ONLY on the Separate Answer Sheet Provided. See directiong
in the Answer Sheet,

6. Allitems carry equal marks,

7. Before you proceed to mark in the Answer Sheet, the reSponse to varioyg items in the Test Booklet
you have to fi]] in S0me particulars in the Answer Sheet ag per instrucnons sent to yoy with your

isgion Certificate,

8. ' you have completeq filling in a1 YOur responseg o the Answer Sheet ang the €Xamination hag
concluded, yq, should hanq over to the Invigilator only the Answer Sheet. You are Permitted tq
take away With you the Test Booklet,

9. Sheets for Tough work ape appended in the Test Booklet a¢ the eng

10, Penalty for Wrong answeyg ;

RE wiy, BE PENALTY FOR WRONG ANSWERS
MARKED BY AND THE
EBJE%TWE TYPE QUESTION PAPERS, £ D
1 Ere are fouyp ternatiyeg for the answer tg eye i i
: ! " TV question, For each Uestion f,

x; alt;n glven by the tandidate, one-thirq o the may assigned wqtfgthﬁeg;&%abm ad
i) Ifq candidate g
i Sl happ{g]wes more thap
111 A







15. Climactic and Climatic
(a) Climactic i8 an adver 18. [Effect = jition®
o it et e Bt | et
rb meani ) . ic i term effect
area. aning climate of a particular health i1l have 101;1-1;8
(b) Climactic i hang® ATy =
is . te ¢ £ plan |
of a parti ml adjective meaning climate (b) C“mv:r:s'ﬂ i n were deeply
adjecti area., Climatic is an ° tow g
mmraﬁnibs moment of heightened o people of ne“’ Jaw8 that WGI‘B
(©) Climactic @ a by ¢ ment: '
heig} is & verb meaning moment of offect” the gove™
mea Ew excitement, Climatic is a verb pasﬂ""d by ted bY emotion
o e is an adjective meaning moment @ Al crest
; w excitement. Climatic is an
_I__ﬁeehm meaning climate of a paJ‘tiCUIar
area.
' 19. _I}.I:?-ki-? : tions cauﬂed the br
Dir ections * In the following questions @ particular ) quent srﬂ:: gpeaker
i wm Fbur sentences kaue been ﬁﬂmed Ofthe ﬂﬂw Ofth
e 'EI ﬁe word (in different tense forms), only one of ., water caused th
- i w use Gf the word OOI‘I‘QCt[J’ Select the The rapld
correct mmd mark your response on the Answer (b) alls 10 prake:
Smamﬁﬂgly _aked sharply to a
wﬂision-

16.
? ) his preak from
: _hlsﬁ-xendtomkea e
ic schedule. ' @ un;
tor's advice went unheeded by his
teacher repeated] adviced her p
u s to take safety precautions 0n 85/ i
b gd. - . ’ 1._._’.';’; _..r-{:
(d) Elders are often advicing thewr children | gg, Incite e
r on various aspects of their heritage. 6 il o decn o cite mto vzggous et
17. Ilicit of social formations. !
i - wr A o
19 ;l;:ﬁnpg;uti: ;?l?lfj o (b)  The words of the speaker incited feelings
g and grief.
(b) Illicit trading in liquor became profitable of anger, SOTTOW griel. i
© :‘}m oﬁ.arﬂjle p:mbmon' demtial are (¢) His research gave the audience an incite
illicited & 1uge;me into market trends. xh
. i TeTa et
(d) Since he was incite she decided to call out

The news of the earthquake illicited a
massive outpouring of help for the
victims.

(d)
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Hong | , in the skies are the
ent : the follow; . 24, S1: The highest clouds in
11 ?]‘n( < QI Sl ( leng lt(’ms a pﬂn' Of s . .
ﬂD;H‘np,-, . . ;:_] 1 Rfl!t’?l. SE’.IECI the most mosk 'iascmatmg :
entence he n-,;: 5 'mfationghip of the Second 82: We are most attracted to those thmgs
(c) ’ - a : : .
Sh :::d o m you:-n e i @), b), that are most out of our reach.
2 0(‘(‘07‘d On.se on the A-n.swer
The second sentence :
21. S1 Failure . v
S2 g i Stepping Stone 4 uce (@)  reiterates the axiom stated in the first
S“(’CESSive lur o ’
: °8 are K (b)  annuls the axiom stated in the first
Cce Slve Step ing g e OWevey
r(Phe “9000d sentenc, el ') contradicts the axiom stafed i the fr;
" e :
(b) “radicts the Wisdom of the firgt * @) contrasts the assertion made i the first
COntragtg the Wisdom of g, firg
(¢) “Onfirms the Wisdom of g first
® (d) Qualifieg the Wisdom of the firg
25. g;. A four-stroke engine is more efficient than
- & tWo-stroke engine,
+ S1.
2\11 e 2eings are Createq €qua] S2: The tWo-stroke engine has been phageq
STV Tespect OUt t0 protect the environment.
S2 . Some People are more equa] than otherg. The secong sentence
The S€cond senten e - @ :
: a
v(a) contradicts the first correlates to the first
(b) Corroborates the first -®) contradicts the first
(c) Correlates to the first (c) contrasts with the firgt
(d) coincides with the first (d) confirms the Brer
23. S1- The origin of the univerge has been traced _
to the Big Bang. 26. g971. Bottled wate, 18 safer than tap water
S2: There can be no knowledge of What S2: In many countries tap water is feq to
existed before the Big Bang, babies.
The second sentence : : The second sentence :
(@)  contradicts the assertion made in the first i Lo
"(b) explains the basis behind the firs i il
: (it
() establishes limits on the assertion nElade (b)  confirms the
in the first + (€ contrasts with the first
(d) confirms the assertion made in the first (d) is an extension of the first
ANFB-F-ENG
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pirections : Each of the following items in this section Consists
umbled. These parts have been labelled as P, @ R, and S. Yoy

mark YOur response accordingly by choosing the most appropriate
d

@ se
are pog, - Hneg
AUlrey to | Plryg

. ' A , irl th_e Opte Hle Se”t:'f-").
81. and the outcome in cases selected in prior years' the suggestiong re%ived i *ong ¢, ), (6;:'? ';‘*.
P M the ’
formations are reviewed by a cross functional committee to refine t%e e fielg
n .
(@ QPRS S Daramete,.
«(b) PQRS
v(c)  SQPR
. d RSQP ;
32. pollution control equipment broadly include wastewater treatmen; pl
P P s
the various categories of water drinking water treatment plants and efy
TR ~Hluent t"eatmen ¢
(a) PQRS w
+ (b) QSRP
« (&) RPQS
(d) SRQP
33. facilitate the present and prospective entrepreneurs for 111211:1ufact1.n~,°ng
P ang Service Unitg
were notified in 2020, with guidelines to some NeW composite critar:
R RosuS m‘:"la of classificatioy,
4 (a) RPQS
(b) SQPR
*(c) SQRP
<(d) QSPR
34. outside the formal education system the policy seeks to educate and
P - ——_ e ar
equip potential entrepreneurs, both within and in the entrepreneurship domain
R e P T 5 e
*(a) PQRS
<(b) SRPQ
() RSQP
«(d) SQRP
35. organizing Rozgar Melas across the nation for
providing suitable job opportunities in the private sector to the youth
Q
National Skill Development Corporation under the aegis of MSDE has been
to give impetus to the employment initiatives in the country
S
x (a) SRQP
+(b) PQSR
+ (¢) RPQS
< d) QSPR
ANFB-F-ENG
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o

p.‘ﬂ‘“""’"’ : Bach of the following sentences in this
ction has @ blank space with four options. Select
‘H,h,-(‘hmw' preposition or determiner you consider the
oSt appropriate for the blank space and indicate
sour response on the Answer Sheet accordingly.

41. Not metal is necessarily solid in its
natural state.
(a) each
1 (b) every
» (¢) all
3 (d) any

42. The reminder has gone out on
occasions, requiring personnel to complete their

personal files.
y (a) further
.(b) several
@ untold
(d) most

48. It is important for people to work

their co-workers in the office to ensure

maximum productivity.
+(a) for
+(b) into
(e) with

(d) over

44. You can choose

the collection available in the shop.

«(a) whatever
(b) whatsoever
(¢) whichever
(d) which

45. Depending on your preference, you can choose

shirt you like from

Directions : In, the following items similor Sou”,dm‘g
words are given, followed by sentences whereint n
each sentence one of these words has beer used, @

underlined. You qre required to identify those
sentences in which these words have been used most

a §
Sheet accordingly.

46.  Dairy, Dreary, Diary

1. i
She quietly stored all her sacred

memories in her private dairy.

2. i
The proceedings of the meeting went on
and on and were quite dreary.

3. They always bought their milk products
from the local diary.

In which of the sentences given above has/have

the words been used correctly ?

(a) 1and 3 only

(b) 2only

(¢) 2and3only

(d 1,2and3

47. Braid, Beard, Brood

1. The engineers were asked to braid the

river by converting it into single body
with the aid of an artificial dam.
2. Wise men, they say, often sport a beard.

3. Among certain avian species the males
are known to brood the eggs laid by
females.

In which of the sentences given above has/have

to complete either or courses being the words been used correctly ?
offered by the university. (&) "1 and Sonly
(a) some
& iy (b) 2only
* (¢) any (¢) 2and3only
(d) both (d 1,2and3
ANFB-F-ENG (9-C)




Directions :
proverb is 8
appmpriareiy de
proverb and mar
accordingly:

48. ?emon, Legion, Lesson
: The scan
the presen:: :? : ﬁ.f"-cted area indicated
2. He had g legion of fe:;hl'eatening lesion.
: ollow
3 ;: lin: .eve md_ ers who hung on
othemn:spomnt to lesson the burden of

In which of thewe e

the words been, l.::itemes given above has/have | 51.

(a) correctly ?

' land 2only

() 1lonly

(¢©)  2only

(d) 1,2and3

49. Depose, Deplore, Deport

1. The director asked the actor to depose
himself and instead act naturally.

.2- The people are enthusiastically declaring
that they deplore the salutary impact of
the  decisions taken by the
administration.

3. Under extreme circumstances, the 52.
government can deport someone from a
country. e

In which of the sentences given above has/have

the words been used correctly ?

(a) 1andZ2only

(b) 2and 3only

(¢) 2only

(d) 3only

50. Bate, Bait, Bade
1. Those who had gathered for the
unveiling were asked to bate their
curiosity.

9. They set the bait to capture the leopard | 53.
for tagging,

3. He reluctantly bade goodbye to his
belongings.

In which of the sentences given above has/have

the words been used correctly ?

(a) 1,2and38

(b) 2and 3 only

(¢) lonly

(d) Z2only

ANFB-F-ENG (10-C)

-

. In the following items an idjopn, 3
en. Select the response thqs moo_
scribes the meaning of the idjq, :

} your response on the Answer Shee:

Someone’s ears are flapping

ne in a state of intense agitation

(a) Someo

Someone in a state of heightEned

(b)
excitement
Someone desperate to eavesdrop on 5

(c) .
conversation

Someone embarrassed at being caught in

(d) -
the act of lying

Twist of the knife

Slicing through the difficulties that one
faces in life

(a)

(b) To accept defeat in the face of an enemy

(¢) The last thrust of a difficult operation

To make someone who is already feeling

(@)
bad, feel worse with one’s words or actions

Blow your own trumpet

(a) Bevery loud in company

(b)  All sound and fury, signifying nothing

Excessively boastful of one’s own

achievements

* (e)

(d)  Be scathing in one’s criticism of others













at 1 JOW attendance
icer n_‘__.___——-mrvput‘d :‘f_tlli_lg,___-—-——-
The ﬂhu

- (b)
10
a)
.t 2 \ the presence of less than twenty people at work, No error
remarking Of © @)

-1
|

The entire attention of the visiting dignitaries centred around the craftwork on display.

(El] (b) (C)

No error
(d)

78. A group of wayfaring tourists  who had trudged for hundreds of kilometres

(a) (b)
has finally arrived at the destination. No error

(©) (d)

79. The tumult among the gathered spectators rose to a creseendo

(a) (b)
upon the arrival of their most favourite superstar. No error

(c) (d)

80. The listings on the menu that had been proffered by him  were selected after meticulous care
(a)

(b)
and discernment with regard to taste and preference. No error
(c) (d)
ANFB-F-ENG
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81.

82,

g o w @»

List I

(Word / Expression)

Ensue

Morass

Imbroglio

Potpourri

Code :

(a)
(b)
(e)
(d)

o o ® p

W s W o b
MHHNW

List I
(Word / Expression)
Malversation

Conundrum
Incessant

Mulet

Code ;

* (a)
(b)
(c)

,(d)

> e P

[w]

ANFB-F-ENG

Match List | with
T using the code give

[T = B )

e ol SR R |

List II and select the

n below the Lists :

List IT
(Meaning)

Muddy ground

Complex disputes
Collection of
different things

To happen as a
result

o - B S - A o

List IT
(Meaning)

Continuing without
a break

Confusing problem
Extracting money
in the form of taxes

Corrupt behaviour
of a public servant

g oo G co- e

83.
List 1
{-Word fExpre-SSion)
< A. Impugn 1
B. Spew 9,
C. Harangye 3.
D. Gibberish 4,
Code :
A B C
(@) 1 3 4
(b) 1 4 3
g2 ) 3 4
(d 2 4 3
84,
List 1
(Word / Expression)
A. Caveat 1.
. B. Amble 2
C. Acolyte 3.
D. Archaic 4,
Code :
A B C
(a) 1 3 4
*¥b).. i 4 3
9] ) 3 4
d 2 4 3
85. :
List T
(Word / Expression)
A. Kernel 1.
B. Brook 2
C. Jinx 3
D. Solace 4
Code :
A B C
«(a) 4 2 1
®) 3 1 2
() 4 1 2
@ 3 2 1

List 11

(: Meaning)

Meaningless words
Xpressing doubtg

List 11
(Meaning)
Old-fashioneq

Warning
Walkmg at a slow

pace
Ardent follower

NN

List I1
(Meaning)
Something that
causes bad luck

. Something that

gives feeling of
comfort

- 4. Soft partinside a

seed

o




89,
: List 11
g : 1 .:‘:;: /Expression)  (Meaning)
A. PFeat 1. The development of
y events outside g
person’s control
B Fate 2. Used to measure
: depth of water
C. Fathom - 3. An embarrassing
mistake
D. Faux pas 4. An achievement
requiring great
courage
Code :
A B C D
(a) 4 2 1 3
‘M) 3 1 2 4
() 4 1 2 3
d 3 2 1 4
87.
List I List IT
(Word / Expression) (Meaning)
A. Semitic 1 Similarity of
appearance
B.  Seminary 2. Training college for
Priests
C. Send off 3. A family of 90.
languages that
includes Hebrey,
D. Semblance 4. Wish good Iuck to
person leaving
Code ;
A B C D
(@ 1 2 4 3 -
(b) 58 4 2 1
(e) sl 4 2 3
o(d) 3 2 4 1
88.
List1 List IT
(Word / Expression) (Meaning)
A. Hatch "1. Rough and low in pitch
B. Haughty * 2. Arrogant behaviour
C. Gruff 3. Tiring and demanding
D. Gruelling 4. A door in an aircraft
Code :
A B C D
e(a) 4 2 1 3
(b) 3 1 2 4
“he) g 1 2 &
(d) 3 2 1 4
ANFB-F-ENG (16-C)

List I

List
(Word / Expression) (Mean;,, 5)
A. Extirpate 1, Praige =
enthu.‘iia:ﬂjr, i
Btic k
B. Exto] 2 Fc’lrthest D(}izt..f
C. Extremity 3. To rem
OV
Complete;
D. y
Expunge 4, De“tmymmplem
Code ;
A B C D
(@) 4 2 1 3
(b) 3 1 2 4
¢ (c) 4 1 2 3
(d 3 2 1 4
List 1
(Word / Expression)
A. Devioys W I8
B. Devolution - 2.
C. Detriment 3.
D. Detract ° 4,
Code :
A B C
@ 1 3 4
1(b) 2 3 4
© 2 4 g
@ 1 4 ;




. > & ¥ - . ! : : ‘t
:‘r,‘r.“rn ns : In the following item, a CLOZE question is given with ten blanks, each with four options. Selec |

most appropriate word from the options which fills the blanks correctly, and mark your T esponse in the

\7 stier I(\';l?l‘rf mf‘-'m'df-llgf.y,

It is increasing1y 01. (a) recognized that learning levels within many countries

o(b) recognize
(¢) recognizing

(d) been recognized

(a)oughtto  be happening because of

(b) should

\(t:) must

are highly unequal, This 92.

«(d) may
institutional features of school systems, such as early streaming, regional diversity

93. _ (a)on. expenditure or political engagement,

(b) in
ktc) for
(d) with
94,  (a)unequal- access to education, and non-equitable access
(b) inequal
(c) inequality
(d) equal
to different types of providers. Among the developed countries, 95. (a) these
(b) those
(¢) that
- (d) some
with more equal learning outcomes 96._ (a)also” have better average learning
(b) with
(c) to
(d) for
ANFB-F-ENG (17-C)




teomes, 97 (a) suggested  that appropriate interven tions in the ed‘lcatinn
outcomes, 97, e (H) ¥

(b) suggesting -
(c) have suggested
zdl.'d) suggest

| cation, Econ mic ineq, I
associated with the distribution of 98, ——— (&) numeracy skillg among i
(b) numbey
“(c) Proficiency

(d) calculatiq

adults, although the direction of causation is unclegy Arguably, gg ———(@ne
(b) any
2(c) fow
' X(d) some

100. ———— (a) Difference

(b) Different
(c) Differentiateq
v(d) Differences

ANFB-F-ENG (18-C)




08, S1: The history of India’s struggle for freedom is an enthralling one,
Q6 A more vibrant retelling is perhaps required of this tumultuous period of our histary

P . It has all the drama and excitement of an epic tale
And yet, i : 1 v
@ : And yet, in most history textbooks, what students encounter are facts, figures
- ' : *8, Naryjey .
i '“'u]

numbers.
> Aa s S s o " 4
R : Asin epics, heroism was often accompanied by extreme sacrifice.
Accounts of t T, u1 . . T .
e of this period are loaded with tales of loyalty, allegiance, high ideals and
i v o Peacqp
efiy

S
protests.
(a) PQSR
(b) SQRP |
(e) QPSR
(d) PRSQ

104. S1: S : . 2
. 1 Louis XVI of the Bourbon family of Kings married the Austrian princess Marie Antoinettq i
- Iy

1770.
Remarkably nevertheless, under Louis XVI, France helped the thirteen American colonies to

S6 :
gain their independence from Britain.
P: Furthermore, lenders, who gave the state credit, now began to charge 10 per cent interest gy

loans.
Q : The ascension was preceded by a war that added more than a billion livre to a debt that hag

already risen to more than 2 billion livre.
R : In 1774, Louis XVI ascended the throne of France at the age of 20.

S : Long years of war had drained the financial resources of France.

(a) SRPQ
(b)  SQRP
(¢ RQSP
(d RSQP

105. S1: Montesquieu was a great philosopher of his time.
He supported constitutional monarchy in France like the English one.
. He wanted power to be shared between the king, the nobles, and the Third Estate.
. In his book The Spirit of the Laws, he propagated the theory of separating powers into three
lative, the Executive and the Judiciary.

: branches of government — the Legis
one of the three classes from becoming too powerful, Montesquieu suggested the

R : To prevent any
based on checks and balances.

making of a new constitution
S If this was done, he argued, there would be no tyranny and the liberty of the individual could be

safeguarded.

(a) PQSR .'

(h) SQRP

(e) QPRS

(d) RSQP

ANFB-F-ENG (20-C)




{storic patural frontier right through the
Centuries

; dra has Ve »
bha 4 comes down 10 frequent Neavy rushes qur
g the Taing,

a6 The Tunga
oL ' n_lgl . ractel’ "
p: Theriver is pere” 4 by the culers of Vijayanagara near Hamp;
4 s _[nl'ﬂe - mf()l‘ Wate .
Q: The rait b aring eat Ci Ting the
palaces garden? of thex & direction through Mysore and ski
trikes in a uorth-easterlb’ skirts the adj
R ; The united gtream S acent
dlStﬂCtS 4 rOCkY
the Tungabhadra 18 g
5. Thebed of hoth the headstreams
[a:l P'QSR
L]
(h) PRSQ
(c) RSPQ
(d) RQSF
102, S1: Induly 1917, Prince LvoY was replaced by 2 socialist revolutionary Alexander Kerensky as the
head of the pruvisicnal guvemment,
g6: In Russia the Qoviets have been in existence Since 1905, and the Soviet system played 2
especially jmportant role under the Provisional Government.
P : However, such a partial replacement failed to satisfy the Bolsheviks.
Q: The revolutionaries did not want a parliamentary republic nor a bourgeois dem
ocra
¢hey wanted a soviet of workers, soldiers; and labourers. acy but rather
R: When the February Revolution broke out, the lead i )
Switzerland. : er of e Bolsheviks, Lenin, was in
- He arrived in Russia in April 1917
P _and was followed by Trotsky.
(a) PQSR
(b) PRSQ
(¢ QPSR
(d) RQSP
ANFB-F-ENG
(19-C)




o . Jandscape beyond the gjy .
106. S1: Glaciation has 1mmﬂmt effects on the €Ct mod; cations ope ated by ;.
erosion and deposition. i : ¥ ice
ot from the Welsh mountaing jp¢ th
S6: At the same time, ice advanced a large proglacial lake R € Vale of Evesham aiid
combined with northern ice to pond up . 8 Much of th Midlans
z isrupts pre-existi : _ :
P: One example is that glaciation frequently disrupts p SHNg drainag lines, initint;
. Une examp ? disa ared, &tmg 2 new
ARG the ice has disappe
pélicen peftleag U /Warwick ‘area fi
: : the Coventry/Warwi » Was 10rmerly gpa:
Q' The Midlands, what 15 now. into the Trent south of Nottingham rained by the head
/ waters of the River Soar, flowing :
\‘ Two well-documented instances of such effects occur in England,
R: Twow : 1
S During glaciation, the valleys of Soar and Trent were occupied by jee advancing frop, the north,
«a) PQSR
(b) RPQS
(c) SRPQ
(d) RSQP
107. S1: The primary evidence for climate change that occurred many million years ago is the rocks an d
deposits themselves.
S6: In other words, despite the clear legacy in many parts of the world of recent glaciation, the vast
majority of sedimentary rocks were laid down in warm elimatic conditions,

P: Sediments and fossil in the poles tell us a great deal about the environment in which they were
laid down.

Q: We must, of course, bear in mind when interpreting this information that, because of the
movement of the continents, no one latitude of the Earth has necessarily gone through such
marked climatic vicissitudes.

R : Nevertheless, even allowing for this factor, one of the most remarkable discoveries about the
climate change of the past is that the two poles of the Earth have been free of ice for at least
90 per cent of the known history of the planet. :

S: We may find in close proximity to one another, coal deposits indicating the humid conditions of
the tropics, red sandstones laid down in deserts and morainic materials reflecting polar
conditions. ik

(a) PQSR
(b) QSPR
(c) SQRP
(d) RSQP
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108, Si- B cnﬂ.dit;ions C
Every geological period has be : articular o1 Gnlaﬁéﬂc :
as been dominated by one P e into dO ar equeﬂﬂ-‘; only a few

to those
of ;
a new period, different types of organisms € o
m a_rat.ive].y r ¢

S6: The om

: & o
TRROr t;mpll: t];complewly new biological systems is €0

ave developed during the history of life- o Lovelopme eota .

ptive radi

P: Indivi
J vid i : i
ual shifts rely on opportunity, ecological access: an at of ad

followed bY 2 .
are f li_fe on Iaﬂd- nments culmlnatmg n

QS hrastiias:
new cten‘?t‘ca]ly these shifts are rapid and :
R: £ ecological zone — for example, with the emergence e i i cuminaing
: _W'Ithm each period, natural selection has created 2 vast array 5 ecologif:ﬂl parrie
mna breakthrongh' to a new biolcgical system that may s
ve occurred pefore SO that

period.
is dependeﬂt 0

S: Every breakthrough of shift in dominance
the process of evolution is progressive.

=(a) PQSR
(b) QSPR
(c) RSPQ
d R
' e _ocesses of change on the Earth’s surface
109. S1: The sun is the primary transmitter of energy for the P |
and in the atmosphere. )
i e verted into thermal energy:
S6: Only a small part of insolation 18 absorbed and ot 5o el cravisIan
P : Itsrays are transmitted in yarious wavelengths of the solar spectriz,
visible, and infrared bands. X e §
Q: When components of the solar spectrum reach the earth, the insolation 18 partially absorbed and
converted to thermal energy: i A :
R : The amount of energy the earth receives from other celestial bodies 18 negligible by comparison.
S : Radiant energy from the sun that strikes the earth is called insolation.
(a) PSQR
(b) QSPR
(0 SQRP
. (d) RSQP
110. S1: Temperature indicates the relative degree of molecular activity, or heat, of a substance.
S6: The boiling point of water under standard conditions is at 100 degrees Centigrade.
P : Temperature is an index of sensible heat, not a direct measure of the quantity of energy.
Q : Zero on this scale is the ¢riple point’ temperature, at which the gaseous, liquid, and solid states of
water are at equilibrium under standard atmospheric pressure.

as the higher temperature.

R: Ifheat flows from one body to another, the former h
f reference is employed.

‘S : To indicate the temperature of a body, an arbitrary scale o

s(a) QSRP
(b) QSPR
(0 SQRP
(d) PRSQ

&
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116.
( ;;:;ff‘: of Li‘:t i
Srssnk) (Word)
A. Noun 1.  Extremely
B . Verb 9 S‘pectatori al
C. Adverh 3. Spectator
D. Adjective 4 Spectate
Code :
A B S |
*h 2 4 1 3
©) 3 1 4 )
d 3 4 1 2
117.
ListT List IT
(Parts of (Word)
Speech)
A. Noun 1. Auditory
B. Verb 2. Hear
C. Interjection 3. Hark
D. Adjective 4. Hearing
Code :
A B C D
. @ 4 2 3 3 liad
@) 1 3 2 4
{c) X 2 3 40
(d) 4 3 2 1
118.
List I List IT
(Parts of (Word)
Speech)
A. Noun 1. Knowing
B. Verb 2. Know
C. Adverb 3. Knowingly
D. Adjective 4. Knowledge
Code :
A B C D
(a) 4 2 3 1
(b) 1 3 2 4
“(e) 1 2 3 4
d 4 3 2 1
ANFB-F-ENG
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119.

List I
(Parts of
Speech)

A. Noun
B. Verb
C. Adverb

D. Adjective

Code :

(a)
(b)
i (c)
(d)

I'P-i—ib—lrhb

120.

List I
(Parts of
Speech)

A. Noun

B. Verb

C. Adverb

D. Adjective

Code:

(a)
* (b)

(R ST

d 1

W W N N

L = b W

List IT
(Word)

Cogitation
Pensively
Cogitate

Cogitative

NN W w oA
R e S L

List I1
(Word)

Intuitive
Intuition
Intuitively

Intuit

O T - T N
[y



